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The questions are of equal value.
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Candidates are required to give their answers in their own words as_far as practicable.

Note : Answer any five questigns from the following.

Define loosely-coupled and tightly-coupleq *systems. What is a true distributed

system ? Discuss in brief the various distributed computing models.

a)

<j

&

b)

4+ 2+

How does RPC facility make the job of distributed appiication programmer

< lar 27 ILNS 3 R = Ta F4 ool —4
simpler ? Discuss briefly the varicus communicaticn protocels for RPCs. 2+ D

What is the advantage of lightweight RPCs. Describe some of the techiiques

AO--_
used in the LRPC system that make it more efficient than the conventional RPC

systems. 2+5

How do clock synchronization issues differ in centralized and distributed

computing systems ? Differentiate between internal and external

synchronizations of clocks in a distributed s;cic. .. ok - ot evehrnnized
2lncks are 2lsc intermally cvmchramizad ks tha prm pea int poaa T ain
why. 2+3+3

What is a deadlock ? What are the necessary four conditions for deadlock to

occur ? Give examples to prove that if any one of the four conditions is absent,

deadleck is not possible. 1+2+3
Define computer securigy which covers the intangible benefiis alse Do a o3l
survey before securing a predefined system. 4

What are the potential penstration attemnpts and attacks to computer system 7 3

waat is authendcation and now many prime types are teere 7 >

Explain the Basic model of a cryptographic system #ith a di
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What ure the different naming structures ? Explain in detail. 5

Differenitiate between location Independence and location transparency. 4

-

Write down the difference between static location transparency and location

independence.

Enlis: the advantages of distributed system over ceniralized ones and

independent PCs, Are there any disadvantages of distributed systems ? [f any,
4 + 2

Differentiate between bus based multiprocessors and bus based

[€%)

multicomputers 3
Differentiate between Monolithic kernel and Micro kerne 2
What do you mean by concurrency control and two phase locking in case of

S mn = :
Name the main components of Distributed File System. 4
Define name spaca. For a hierarchically structured name space. discuss thz
celative advantages and disadvantages of using a fixed number of levels and
allowing an arbiirary number of levels for the hierarchy. 2+4
Describe a mathad for solving the key distribution problem for 2n asymmetriz
crypio system g
What do vou mean v serializibility ¢5~ Tict ? z

n 3 &
B Digital signature

~ P 3 Ial
143 Processor pool modal
# Staieless server
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GROUP - B
{ Short Answer Type Questions )
Answer any three of the following. 3x5=15
2.,\/ What is RPC ? What are stateless and stateful servers ? 2+3
3. Enumerate the features that a global scheduling algorithm should possess. 5
4. What are threads ? How are threads created and terminated ? 1+2+2
5. What is cryptography ? What is meant by symmeitric key cryptography and
asymmetric key cryptography ? 2+3
6. Describe the token passing approach of achieving mutual exclusion. 5
GROUP-C
{ Long Answer Type Questions )
Answer any three questions. 3x 15 =45
7 What is groupware ? What are the main differences between a network operating
system and a distributed operating system ? What are the major issues in designinga
distributed operating system ? 2+4+59=15
8 Describe blocking and non-blocking types of IPC. What are their relative advantages

and disadvantages ? What is datagram ? What is the advantage of lightweight RPCs ?
Describe some of the techniques used in the LRPC system that make it more efficient

than the conventional RPC systems ? 3+3+2+2+5=15

a) Explain the “two-phase locking” protocol used to ensures erializability.

bj What do you mean by an atomic transaction ? and explain the acid

properties for a transaction,
c What do you mean by marshalling ?

o How can you prevent deadlocks ?
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10. What are the main differenc=s between the load-balancing and load-s
approaches for process scheduling in distributed system ? Which of the v
policies to be used in the implementation of the two approaches are differer
which are the same ?

11. Write short note‘s on any three of the following : 3xi
a) Digital signature
b) _/Buffering
c} Load balancing : centralized vs distributed
d) /Lightwéight RPC
‘/M

¢}

ultidatagram messages

f Processor pool model.
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